sd Objednavka jedla J

:Student :Menu :CentralneUlozisko

getMenulist()

<<create>>

:Objednavka

|-0°P(0,5)/ [orderDone == false]

opt [getSelectedFood() ==1]
addledlo(idJedlo)

opt ) [getSelectedFood() ==2]

addledlo(idJedlo)

1
T
opt [getSelectedFood() ==3] }
addledlo(idJedlo) I
|

opt / [Objednavka.isEmpty() == false]

sendOrder

 J




:CentralneUlozisko

:Menu

:Objednavka

sendOrder

false]

getMenulist()
[eventAdd == true]
addJedlo(idJedlo)
removeledlo(idJedlo)

<<create>>
[eventRemove == true]

:Student

opt ) [foodCount <=5]
opt / [isOrderE mpty

break ) [eventCheckout == true]

|
opt
opt

loop

sd Objednévkajedla/




:CentralneUlozisko

:Menu

getMenulist()

:Student
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:Objednavka

<<create>>

,,,,,,,,,,,,,,,,,\/,.

[eventAdd == true]
addJedlo(idJedlo)

opt ) [foodCount <=5]

loop
\
opt

sd Objednévkajedla/

[eventCheckout == true]

opt

false]

break ) [isOrderEmpty

sendOrder
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